Penthouse in Qawra



Reference No: 240291001-2930

Qawra, North



€432,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 138

Bedrooms: 3

Penthouse - For Sale - Qawra

PENTHOUSE - QAWRA - This accommodation located in the heart of Qawra close to all amenities. The layout consists of an Open plan Living, Kitchen and Dining area, 3 Bedrooms which main having an En-suite a Main Bathroom. The property is freehold. Project is estimated to be completed by end of June 2026. Contact agent now for more information.

Features

Rooms

Kitchen/Living/Dining: 9.52 x 4.86 m (46.27 m2)

Double Bedroom : 4.84 x 2.74 m (13.26 m2)

Double Bedroom: 3.62 x 3.79 m (13.72 m2)

✓ Double Bedroom : 5.62 x 4.27 m (24 m2)

✓ Bathroom Ensuite : 1.9 x 2.34 m (4.45 m2)

✓ Bathroom : 2.51 x 2.44 m (6.12 m2)

Gallery





RE/MAX North - Qawra RE/MAX North - Qawra

M: 21585844

E: qwr@remax.com.mt

T: 21585844

RE/MAX North - QawraDawret il-Gzejjer,Qawra, St Paul's Bay, Malta